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0 7.1. 0 )
(1) fla,b) =9 (2) f(a,0) =6 (3) fla,b) =3
(4) fla,b) = 2e (5) fla,b) =1 (6) f(a,b) =0
O 7.2. 0
(1) folz,y) =322, fy(z,y) = 3y°
(2) fw(xay) =Y, fy(may) =T
2z o) = — 2y
(3) fa:(xvy)_ ($2+y2)2’ fy( 7y) ($2+y2)2
(4) fx(xay) = meerv fy(xay) = 'TQ(l + 2y)62y
5 o) = " feg)— Y
(6) folwy) = =330 Fulew) = 3
8§ 0o
O 8.1. O .
(1) z =3(z + 4y — 6) (2) z2=3z+2y—6 (3)z:—§(x+y—3)
(4) z =2e(x + 4y — 3) (5) z=—-2x—-y+6 (6) z=1y
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0O 9.1. O
(1) z; =6t (2) 2 =1+ 2%
(3) 2z = cos2t (4) 2z, = b5sin2t
t(t3 + 3t — 2)
— @b 3 2 _
(5) 20 = 665 + 1263 — 3t2 +- 4t — 1 6) 2= "
(7) 2¢=0 (8) 2z = t'(logt + 1)
0 9.2. O
2 = 4v 2, = 4u? 2y = uv?(3u + 2v)
1) @) 3 3) 2
2y = 4u 2y = —4v 2y = uv(2u + 3v)
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